TEMICETLIERRAREDAERR (SEIE)

LR 28E3BIES
AlE B I 7E B i Kix #IE(u Sv/h)
5 FRTORS i 0.07
R %30 0.07
e FRTORS i 0.07
%30 0.07
a0 FRTORS i 0.06
R %30 0.06
. FRTORS i 0.07
R %30 0.07
e PR o 0.08
R4 3B 0.07
6H FRIOKF . 0.07
R %30S 0.07
g FRTORS = 0.08
R 1538 - 0.07
on FRTORS i 0.08
R %30S 0.08
on FRTORS = 0.06
14308 - 0.08
. FRIOKF =y 0.07
%38 = 0.08
g R ETORS - 0.08
14308 0.08
oE FRTORS o 0.09
F %30 0.07
ag FRTORS i 0.06
F %30 0.06
aE FRTORS = 0.07
14308 - 0.07
eg FRTORS i 0.06
F %30 0.06




TEMICETLIERRAREDAERR (SEIE)

Epk28FE3HBIE D
AlE B I 7E B i Kix #IE(u Sv/h)

. FHIOR Eh 0.07
F 30 0.08
75 FHIORS Eh 0.06
F 30 0.07
. FHIORS Eh 0.09
F 30 0.07
O 0.06

19H FHIOK ARNbLEY
F 30 0.07
208 THiiOrF Eh 0.07
F 30 0.09
. FHIOBS . 0.06
F 30 0.07
0o THiORF Eh 0.07
F 30 0.07
235 THiORF 2y 0.07
F1438 = 0.07
o4 T HijORF Eh 0.07
1% 30F 0.06
»s FHIOBS = 0.06
1% 30F 0.06
268 T HijORE Eh 0.07
%3 0.08
- FHIOBS = 0.06
1% 30F 0.08
. FHIOBS . 0.06
1% 30F 0.06
»o FHIOBS sy 0.07
F 130 = 0.05
soq FHIOBS sy 0.07
F 1430 = 0.06
e FHIOBS - 0.07
F 430 = 0.08




